SCHOLASTIC APTITUDE TEST (TELUGU) NMMS-VIII-S6

NATIONAL MEANS CUM MERIT SCHOLARSHIP SCHEME EXAMINATION, 2022-23
SsS DS, 55> oS DwBS 1,5 e, 2022-23

-!ﬁ.‘;‘-

CENTRE CODE 2065 §%& P

SEAT NO. %é» So208

QUESTION BOOKLET
B, g

SCHOLASTIC APTITUDE TEST
KD DesoY H5OF

CLASS VIII / VIII & 85658
MEDIUM : TELUGU (3ext%) WITH ENGLISH VERSION

[DATE : 21" December, 2022]
[28:21 820255, 2022]

[Time : 10:30 A.M. to 12:00 P.M.]
[D33000500:10:30 A.M. Soo& 12:00 P.M.]

Maximum Marks : 90
1108 SSset,en: 90
Time : 90 Minutes
030aHL @ 90 DKV Total Pages : 48

Booegsin0 HZen: 48

NMMS-SAT-22-23 [ VIII[S6 |




eaap:stiaezga QI
[

otH DL DBPERDO R, HoooKH VFBBOD> MPIEM BES0R.

I 305 ©000d5 HBE 52ge S asaran HBOS? SPBR ISTERRed 2206 DODETOD.
HOF BSO0DO BB VD asaren VBE 08 TS S TR B BB, POBo (HES0D STH
55,5 8 50 o ¢ @0S08.

2. 5003 Yo 20eb §9& & DS S02570 oo Rp0me (8.5 epESd 85 @08 S Bad) (¥, HE0
S0 Zoa0B. S e 50. TEHSNV0E DS SRS ?0038)063%50&. GSaHBD O epl s g

S50 SrS0E%E.

€303083°0ED

CENTRE CODE o0& §%& 1111012

SEATNO. 2¢0o So2o> (M| 3 (3 (9121311102 11(2{3

3. son3d oo “DHooH DY éég’ > (Scholastic Aptitude Test) 23020 D@, BOLOKT,ER
%ogaoisagﬁo&.

4. 808 S8 3ogo @Ee Doy 90. @R, HFD e5YE, S, 5DA eoera.
5. @R, (D0 EDAJ0.

6. PEDBOS D (HFE 0D DOVBED ABEAN. FPID JOVS B00& DD BSTERT0 §9%0
S0 BaD0d. e/ DS e saead DBOS) @S B ©SS e FaDO. SOHB
(OF,D (BP0 DSIGRRLD T2OTSE.

7. R0EE (08, 5008 e.EmR) HaRS 258 D3O (DT, SOE DSTGRR0 QS0 [DPS00S0E.

8. OB DED IS0 Q0 BOODEDIE, AP DES DSOODO MEDEOR. BWDO [DEED
oG, oW DIADO GOGSHOE0E, AT Bty SODDED DFEODH Sy EoA B o
BOIB,085555),

9. PDIOM GBI DONB0BERE SeP000DR DSOATE), AEROP0S EHATA0SE0E. HS
2 Boss adys PSS DE DR (69 $6,) Bowed.

10. 8 20E8ESD 5,60 Sm 2065 EI&, DS 0. 00T0 DY DI &), BLO TV

NMMS-SAT-22-23 [ VIII[S6 |




INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.

1.

10.

Answers are to be bubbled only on the separate carbonless Answer sheet
provided to you. After examination detach the carbonless copy from original
Answer sheet & keep carbonless copy with you till the declaration of result.

Please write your Center Code & Seat No. very clearly (only one digit in one
block) on question paper. Before writing your seat no. ascertain it with Hall
ticket. Please see that no block is left blank or unfilled.

Example :

CENTRECODE |1 |1 ] 0|2

SEAT NO. M3 |3]9]|2|3]|]1|1]02]1]2]3

Please ensure that you have received Scholastic Aptitude Test answer sheet.
Total number of questions are 90 for this paper. All questions carry one mark each.
All questions are compulsory.

For each question there are four options given in question paper. Check for the
correct answer and bubble correct option from four circles given in answer sheet
by Black/Blue pen. Please do not write any answers on question paper.

Start answering from first question one after another till the last question.

If you do not know the answer of any question, do not spend much time on it and
pass on to the next one. If time permits, you can come back to the questions which
you have left in the first instance and try them again.

Utilize the allotted time for solving the questions in best possible way. The rough
work is to be done in the box given under each page.

Do not write anything except Center Code, Seat No. and rough work anywhere in
this booklet
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001. In case of birth of stars, arrange the given statements in a proper order and select the correct

option from given alternatives.

(A)
(B)
©
(D)

(1)
3)

002. As shown in the figure given below, an explosion occurs at point ‘O’. Considering sound of

Due to generation of nuclear energy the gas sphere becomes self luminous.

Due to fusion of atomic nuclei nuclear energy generation starts.

Due to disturbance cloud start contracting.

Density of interstellar cloud starts increasing and its temperature also starts to increase

and a dense sphere of hot gas is formed.

C,D,B,A (2) D,C,A,B
B,D,C,A 4) A,C,D,B

explosion choose the correct option from given alternatives.

(1)
2)
€)
(4)

AIR

A and B both hear the sound at same time.
A hears the sound earlier than B.
A hears the sound later than B.

B does not hear the sound at all.

003. From the given alternatives choose the wrong statement in regards to electric current.

(1)
2)
€)

(4)

Electrons flow from positive potential to negative potential.

Conventional flow of electric current is from positive potential to negative potential.

Electrons flow from negative potential to positive potential.

1Amp = lliC

Space for Rough Work
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004. Match the given terms in column A with definitions / formulae given in column B and select
the correct option from given alternatives.
Column A Column B (Definitions / Formulae)

(1) | Degree Celsius a] | Total kinetic energy of the atoms in a substance

(i1) | Degree Fahrenheit b] %(F—32)

(iii) | Heat c] |C+273.15

(iv) | Temperature d] | Average kinetic energy of the atoms in a substance
(1) (@-d (@()-b (i)-c (iv)-a
2) (@)-b (@(i)-c¢ (i)-a (iv)-d
3) (@{@)-c (1)-d (@i)-b (iv)-a
4 (@()-a (i)-a (i)-d (@(v)-c

005. Given table contains physical quantities with their MKS and CGS units. Observe them, match

them and choose the correct alternative.

Physical quantity MKS system of units CGS system of units

(1) | Speed a] | Kilogram/Meter cube p] | Gram/Meter cube

(i1) | Area b] | Meter cube q] | Centimetre/Second

(ii1) | Volume c] | Meter/Second r] | Centimetre square

(iv) | Density d] | Meter square s] | Centimetre cube
(1) i-b-p 1i-c-q iii-c-r iv-b-s
(2) 1i-c-q ii-d-r iii-b-s iv-a-p
3 i-a-r ii-a-s iii-a-p iv-c-q
4) i-d-s ii-b-p iii-b-q iv-d-r

Space for Rough Work
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006. Work of scientists mentioned in Column A is given in Column B. Identify the relation between

scientists and their work and choose the corrective alternative from those given below.

Column (A) Scientist Column (B) Work
(1) | Thales a] | Magnetic lines of force.
(i1) | Thomas Browne b] | Showed that lightening is form of electric charge.
(ii1) | Benjamin Franklin c] | Coined the term electricity.
(iv) | Michael Faraday d] fﬁﬁ fitilvirslfet;r?‘;{,er?c.to yellow coloured amber
() (@{@-c (@()-d (@i)-a (@{v)-b
2) (@()-a (@()-b (i)-d (iv)-c
3 (@{@-b (i)-a (i)-c¢ (@{1v)-b
4 (G)-d (i)-c (i)-b (iv)-a

007. Observe the following figure and choose the correct option related to wavelength.

) F
()  [(BE) (2) I(CE)
(3)  1(DG) (4) I(ED

Space for Rough Work
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008. Observe column ‘A’ and column ‘B’ and select the correct option of answers.

Column ‘A’ Column ‘B’
P] | Human Larynx A] | Vibrations of metal arms
Q] | Loud speaker B] | Vibrations in vocal cords
R] |Jal-Tarang C] | Vibrations of screen
S] | Tuning fork D] | Vibrations in air column
() P-C Q-B R-A S-D
2) P-D Q-A R-C S-B
3 P-A Q-D R-B S-C
4 P-B Q-C R-D S-A

009. If more than one force are acting on a body, then the effect on the body is

(1)
3)

Due to net force (2) Zero

Negative (4) Positive

010. Find the correct statement / equation regarding irregular reflection.

(1)
)
3)
4)

Laws of reflection are not followed in irregular reflection.
Angle of incident is not equal to angle of reflection.
i=r #r,#r,=

Irregular reflection takes place at smooth surface.

011. Find false statement related to Kaleidoscope.

(1)
2)
3)
4)

Three mirrors are used in triangular shape.
Each mirror is fitted with other mirror in 45°.
Innumerable images of the glass pieces are formed.

It is used to find various designs.

Space for Rough Work
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012. Amongst the following which element is not used as controller to reduce the number of neutrons
in the nuclear reactor?
(1)  Beryllium (2) Graphite
(3) Cadmium (4) Boron
013. Important molecules in a mixture of air are?
(1) N,,0,,Ar,H0O,CO, (2) N,,0,,Ar,H0,CO
3) N,,0,,H,,H,0,CO, 4) N,,0,,CO,H,0,CO,
014. Which is the correct statement from the following?
(1)  Potassium is not a soft metal.
(2)  Lead metal is a good conductor of electricity.
(3)  Non-metal Boron has a high melting point.
(4)  Density of Lithium is more than water.
015. Which is the incorrect pair for air pollutant and its effects?
(1)  Pesticides - Mental weakness (2) Particular matter - Irritation of eyes
(3)  Dust - Silicosis (4)  Sulphur dioxide - Cough, Breath
016. Which is the correct pair from the following?
(1)  Na,CO, - Neutral (2) CaO - Acidic
(3) KCI - Neutral (4) SO, - Alkaline
017.  Write the products A and B respectively in the following word chemical equation?
A + Sodiumbicarbonate ——» Carbondioxide + B
(1)  Lactic Acid , Sodium Citrate (2) Citric Acid , Sodium Citrate
(3)  Sodium Citrate , Lactic Acid (4) Sodium Citrate , Citric Acid
Space for Rough Work
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018. Which type of plastic is used to make laboratory appliances?
(1)  Polypropylene (2) Polystyrene
(3)  Polyurethane (4) Polyester
019. Molecular formulas of compounds are given, which is not the molecular formula from the
given?
(1)  NaH (2) NH,
(3) FeS 4 CQO,
020. Which method is used to identify and separate components of a mixture in a pharmaceutical
science?
(1)  Method of chromatography (2) Method of centrifugation
(3)  Method of separation (4) Distillation
021. Which ingredient in toothpaste removes dirt from teeth?
(1)  Calcium Sulphate, Calcium, Hydrogen, Phosphate
(2)  Calcium Sulphate, Fluorine, Hydrogen, Phosphate
(3)  Sodium Carbonate, Calcium, Hydrogen, Phosphate
(4)  Calcium Carbonate, Calcium, Hydrogen, Phosphate
022. Which metal oxide is mixed with glass to give red colour to the glass?
(1)  Copper (2) Iron
(3) Manganese (4) Potassium
Space for Rough Work
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023. Size of microorganisms is smaller than micrometers.
(1) 10 (2) 100
(3) 1000 4) 50
024. Find the odd pair from the following.
A B
1) Loranthus - Autotrophic plant
2) Drosera - Insectivorous plant
3) Lichen - Symbiotic plant
4) Mushroom - Saprophytic plant
025. Identify living being in Protista Kingdom.
(1)  Clostridium (2) Volvox
(3) Baker’s Yeast (4) Vibrio
026. Identify incorrect statement from the following.
(1)  Amoeba has pseudopodia for locomotion.
(2)  Euglena is a heterotrophic fungus.
(3)  Tobacco Mosaic disease is caused by virus.
(4)  Viruses are at the edge of living and non-living.
027. Biopsy technique is used for detection of which disease?
(1)  Cancer (2) Heart Disease
(3) AIDS (4) Swine Flu
Space for Rough Work
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028. Frequent urination at night, increased obesity or weight loss these are symptoms of which
disease?
(1)  Cancer (2) AIDS
(3)  Diabetes (4) Heart Disease
029. Fire caused due to electrical components is types of fire.
(1)  Class B fire (2) Class C fire
(3) Class D fire (4) ClassE fire
030. Which pigment imparts yellow colour to the parts of plants?
(1)  Xanthophyll (2) Carotene
(3)  Anthocyanin (4) Chlorophyll
031. Find cell organelles performing specific functions.
A - Destroys viruses and bacteria that attack the cells.
B - To excrete worn out cell organelles.
C - Digestion of old or damaged cells.
(1)  Golgi Complex (2) Endoplasmic Reticulum
(3)  Mitochondria (4) Lysosomes
032. Body temperature is maintained constant by
(1)  Blood (2) Lysosomes
(3)  Endoplasmic Reticulum (4) Golgi Complex
Space for Rough Work
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033. Identify Larynx from the following figure.
A (2) B
3 C (4)
034. Where is the habitat / shelter for Asiatic lion?
(1)  Ranthambore Sanctuary (2) Bharatpur Sanctuary
(3)  Gir forest (4) Kaziranga National Park
035. Identify the cells which protect human body from microbial disease.
(1)  Red Blood Corpuscles (2)  White Blood Cells
(3) Plasma (4) Platelets
036. Who became the Nawab of Bengal in 1756 AD?
(1)  Siraj-ud-Daulah (2) Mir Jafar
(3) Mir Kasim (4) Shuja-ud-Daulah
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037. Who went on fast unto the death to open the doors of Vithal temple at Pandharpur for Dalits?
(1)  Prof. N. G. Ranga (2) Baba Ramchandra
(3)  Shashipad Banerjee (4) Sane Guruji
038. ldentify the wrong statement :
(1)  Chafekar brothers killed Rand.
(2)  Vanchhi Ayyer - a revolutionary, killed a British officer named Ash.
(3)  Prafulla Chaki shot dead Kingsford.
(4)  Rasbihari Bose made daring act of throwing bomb on Voiceroy Lord Hardings.
039. Whossaid the following statement, ‘We will oppose the seperation of Mumbai from Maharashtra
upto our last breath’.
(1) P K. Atre (2) Shankarrao Dev
(3)  Ismat Chugtai (4) Sulatana Johari
040. Under whose leadership, in 1857 the Bhills revolted?
(1)  Umaji Naik (2) Bhagoji Naik
(3) Babasaheb Bhave (4) Kajar Singh
041. Identify the correct option which represents the correct chronological order of given events.
(A)  Sati Prohibition Act (B) Regulating Act
(C)  Pitt’s India Act (D) Widow Remarriage Act
Options :
() B,C,A,D 2) C,A,D,B
3) D,A,B,C 4 B,A,CD
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042.

043.

044.

045.
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042. Identify the correct option of historical event which is related to the person (social reformer)

shown in the picture.

(1)  Establishment of Paramhans Sabha
(2)  Establishment of Brahmo Samaj

(3)  Advocating gender equality through ‘Shatapatre’
(4)  Establishment of Satya Shodhak Samaj

043. Leaders who lead Solapur Satyagrah and were hanged to death are given below. Identify the

wrong name out of it :
(1)  Mallappa Dhanshetti
3) Shrikrishna Sarda

(2) Shankar Shivdare
(4) Qurban Hussain

044. Who among the following is not included in ‘Cabinet Mission’?

(1)  Pethick Lawrence
(3)  A.V.Alexander

(2)  Stafford Cripps
(4) Lord Mountbatten

045. Identify the correct option which shows correct chronological order of Satyagrahas lead by

Mahatma Gandhi.

(A) Kheda Satyagraha
(C) Dandi Yatra
Options :

(1) B,D,CandA

3) D,A,BandC

(B) Non Cooperation Movement

(D) Champaran Satyagrah

2) D,C,AandB
4) A,D,CandB
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046. ldentify the correct option as per the chronology of events.
(A) Poona Pact (B) Peshawar Satyagrah
(C)  Second Round Table Conference (D) Cripps Plan
Options :
(1) A,B,CandD (2) B,C,AandD
3) C,B,AandD 4) C,D,AandB
047. Which one of the following is not an objective of Satyagraha technique brought by Mahatma
Gandhi?
(1)  An unjust person is made aware of truth and justice.
(2)  Bring transformation in the views of a person doing unjust.
(3)  Should never use violence and untruth means.
(4)  To get justice through violence and untruth means.
048. After the annihilation of Afzal Khan, Shivaji Maharaj captured the Adil Shahi forts. Identify
the wrong option of fort not captured by him;
(1)  Vasant Gad (2) Bhudar Gad
(3) Panhala (4) Khelna
049. Who introduced the strategy of war called ‘Safe deposit locker system’?
(1)  Khanderao Dabhade (2) Dhanaji Jadhav
(3) Nemaji Shinde (4) Maharani Tarabai
050. Identify the name of the weekly magzine through which Gopal Hari Deshmukh advocated
social and cultural subjects through Shatapatre?
(1)  Prabhakar (2) Nibandhmala
(3)  Janata (4) Dnyanoday
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051. Bills related to finance are considered as ‘Money Bills’. Which house has right to introduce
and pass money bill?
(1)  Loksabha (2) Rajyasabha
(3)  Vidhan Parishad (4) Sthayee Samittee (praesidium)
052. As per the amendment, the number of ministers in the council should notbe morethan %
of the total number of members in the Loksabha.
(1) 10 2) 15
() 20 4) 25
053. Which State or Union Territory is not covered by The Bombay High Court's jurisdiction?
(1)  Maharashtra (2) Goa
(3)  Dadra Nagar Haveli (4) Aandaman Nicobar
054. Identify the right which is not given to the Governor?
(1)  The Right to assent the Bills to convert it into laws.
(2)  The Right to summon the session of the state legislature.
(3)  To issue an ordinance to make the law if need arises.
(4)  To decide the number of members in Council of Ministers.
055. Identify the subject which deals with both : The Union Government and The State Government.
(1)  Defence (2) Currency
(3)  Education (4) Prison Administration
Space for Rough Work

NMMS-SAT-22-23 [ VIII[S6 |




056.

057.

058.

059.

060.

R0HTPD EIFPROBD AEST,SO.

(1) & Hedd (2) SRS

‘e

(3) Q0 wpeod (4) 882e0H
L € Le.)

Bo® arBS? taoes DS G0 RO OO ?

(1) IS 2005 (2) 2P0

EIEIE5089 DOEPESI0HD 5050 ISP 0L (Bod T3S $OGIRD (55050 DRSS,
(1)  e8%E0I00 — S0GRE*0 —> AIPTRSI0I0 —> S0G30°|E

(2) RoroRRESOoO —> ?\’1)?835(50‘30 —> OGO —> SOGRE,0

(38)  SogRE%0 —> SO —> KD”S%CSOZX)O —> QIPT[SO0T0

(4) OGO —> DPTRRSOOTO —> SIGRE0 —> “wS%ch’ao

D0 e300 ErR0850 Do HDE0D 9083
(1) &go (2) Sogren

(3) @0 desss0o (4) eraEISSo

Q0P BEOYRYFOSIR) JID S200 20O SOPOLEO OB ? HOGHD HOALRR), 11YOBOE.
(1) &9, F00d 2Pod (2) 2oab F0d &8,

(3) 2R S0 &R0 (4) &R0285 F00D ex°d

DEY HA ¥ Yoo

NMMS-SAT-22-23 | VIII | S6 |




056. clouds are indicators of thunder storms.
(1)  Alto-stratus (2) Cumulonimbus
(3)  Nimbostratus (4) Cirrostratus
057. Which of the following is not come under transport land use?
(1)  Petrol Pump (2) Bus Stand
(3)  Bank Office (4) Railway Station
058. ldentify the correct order of a day which we experience in different stages because of the
Earth’s rotation.
(1)  Sunrise - Midday - Sunset - Midnight
(2)  Sunset - Sunrise - Midnight - Midday
(3) Midday - Midnight - Sunrise - Sunset
(4)  Midnight - Sunset - Midday - Sunrise
059. is the process of converting water into steam or water vapour.
(1)  Rain (2) Clouds
(3)  Condensation (4) Evaporation
060. Identify the correct option which shows the summer season in the northern hemisphere:
(1)  March to September (2) September to March
(3)  June to December (4) December to June
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061. ldentify the odd statement which is not related to importance of field visit.
(1)  Geographical concepts can be understood.
(2)  Helps to understand the relationship between man and environment.
(3) It gives first hand experience of geographical factors and processes.
(4) It gives experience of literacy growth.
062. Identify the correct option :
(1)  Silica - Nickel — Sial (2) Silica - Iron — Sial
(3)  Silica - Aluminium — Sial (4) Silica - Magnesium — Sial
063. The Indian Standard Time (IST) has been decided according to the longitude.
(1)  82°30" West (2) 82°30'East
(3)  22°30"West (4) 22°30'East
064. From which ocean Labrado current is flowing?
(1)  Pacific (2)  South Atlantic
(3) Hindi (4) North Atlantic
065. Which of the following is not related to population growth?
(1)  Birthrate (2) Death rate
(3) Language (4) Migration
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066. Study the graph and identify the state which has highest sex ratio?
1100
1000
900
800
= 700
5, 600
§ 500
3 400
@ 300
g 200
Z 0
Haryana Bihar Maharashtra Chattisgarh Kerala
Gender Ratio 2011
(1)  Chhatisgarh (2) Kerala
(3) Maharashtra (4) Haryana
067. Continental shelf has extensive fishing grounds as this part of ocean floor is favourable for
fishing. Identify the wrong reason which does not go with other favourable conditions :
(1)  This part is shallow.
(2)  Sunlight reaches upto it’s bed.
(3)  This part is very deep.
(4)  Planton grow here.
068. Identify the correct option of Grassland and it continent from given alternatives:
(1)  Pampas - South America (2) Veld - North America
(3) Downs - Africa (4) Prairies - Australia
069. There are three ways of expressing the scale on a map. Identify the odd man out.
(1)  Verbal scale (2) Numerical scale
(3)  Linear scale (4) Picture scale
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070. Identify the option of the alphabet which indicates area of coal in given map.

Index

© Iron I

©® Manganese

@ Chalkstick
alCoal

@) Iron-Steel Industry

3 & Zaria

/ A ©Asansol
rd
/

N
Kulaysila h

D \\\ Towards
Kolkatta Port
Sor

o\

Gurumahisani Suvarnarekha River <y

H A 2) B
3 C 4 D

071. Inthe adjoining figure, line n intersects line / and m in two distinct points. Find the ratio of the
interior alternate angles using the given information.

N L

(1) 8:11 2) 7:11
3) 11:7 4 7:8
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(1) /DHC = ZDFC (2) «ZHDC=z=ZFDC
3) eneso CH = edeso CF (4) egoeso DH = gheso DF
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072. I the adjoining figure G is the centroid of AABC. IfAG = 743 , then find

A
g
G
8 P ¥
(H 2:1 2) 3:1
3) 1:2 4 1:3

073.  In OABCD. AC = 342 and BD? = 18. What type of DABCD will be?
(1)  Parallelogram (2) Rhombus
(3)  Trapezium (4) Rectangle

074. Inthe adjacent figure ADCH = A DCF. Which additional information is needed to show ADCH

and ADCF congruent by A-A-S test?

H

(1) ZDHC=z= «£DFC (2) ZHDC=z=ZFDC
(3)  Side CH = Side CF (4) Side DH = Side DF
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F a

(1) 100 (2) 256
3) 10 4) 2.6
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(1)  6.520.80. (2) 5.5 20.%0.

(3)  3.520.%0. 4) 4.520.80.
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075.

076.

077.

078.

079.

Satish sold a flat for Rs. 24,50,000 to Prashant through a broker. Broker received Rs. 98,000

brokerage as total brokerage from both. Find the rate of brokerage.
() 4% 2 2%

3)  25% @) 35%

Which of the following is an Irrational number?

O @ 5

3 V8 @ Vs

Find (100.1)?

(1) 10000.01 (2)  10002.01
(3)  10020.01 (4)  10022.01
Fa #

When D=4,F=16. Hence if D=1.6

Find F

(1) 100 (2) 256

3) 10 (4) 256

Radius of a circle is 9.1 cm. Find the distance of the chord from the centre if length of the chord

1s 16.8 cm.
(1) 6.5cm (2) 5.5cm
3) 35cm (4) 45cm
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(0 = 4x2 + 6x — 1) 83 25000 (x — 1) B g7°A0DSSI, g0 SHOATD Fa0 Do ?

(1) errpeo=x>—3x+3; Fn0=1
(2) g0 =x>+3x -3 ; F0 =2
3) errpeo=x>+3x-2; 30 =13
4) errpeoo=x>-3x+3; F0 =2
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080. The diameter and height of a cylindrical tank is 1.75 m and 3.2 m respectively. How much is
the capacity of the tank in litre?
() 770 (2) 350 (3) 6600 (4) 7700
081. Iflength of a diagonal of a rhombus is 30 cm and its area is 240 sq.cm. Find its perimeter.
(1) 64cm (2) 32cm (3) 68cm 4) 80cm
082.  Find ¢/(19683)
(H 17 2 27 3) 277 4 37
083. . .o 2*—32  xX’+2x—15
Stmplify - PAx—20  LAx—12
(2 2 1
3 &-3) 4 (+4)
084. Divide the polynomial (x* — 4x* + 6x — 1) by the binomial (x — 1). Write the quotient and the
remainder.
(1)  Quotient=x*—-3x+3 Remainder = 1
(2)  Quotient=x*+3x—-3 Remainder =2
(3)  Quotient=x?+3x—2 Remainder =3
(4)  Quotient=x?—-3x+3 Remainder = 2
085. The ratio of two numbers is 5 : 6. If 8 is subtracted from each number, then the ratio becomes
4 : 5. Find the bigger number.
(H 72 (2) 64 (3) 48 4) 56
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086. The number of mathematics projects submitted by a school in last 20 years in maths exhibition

is as follows. Find the mean.

2,3,4,1,2,3,1,5,4,2

3,1,3,5,4,3,2,2,3,2

(1) 257 2) 2.5 (3) 3.50 4)

087. Find the smallest number, in which if 5 is added, it is divisible by 12, 15 and 18.
(1) 185 (2) 175 (3) 285 4)

088. Observe the adjacent figure and find the area of AABC.

A
13 20
i
B 5 p C
(D) 116 sq. units (2) 126 sq. units
3) 136 sq. units (4) 120 sq. units

3.70

235

089. Find the compound interest if Rs. 51,200 are invested for 3 years at the rate of 12 % p.c.p.a.

(1) 21800 (2) 21700 (3) 21750 4) 21710
090. Find the number of faces if a solid figure has 6 vertices and 10 edges.
5 @ 7 (3) 6 4 8
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